&S G s6T @sssL, Clgsrsner —6
LSS UG CUTEISCSHTey — LomT&/erLirsy 2025
seauflglur, ellenL& @iy (S aufl)
LHIIH wpevm — S GolliseT

Qurss LSliGiuesr: 100

. @ e wpepuiled G Qetearans sallr wrmn (penmsefle sflwumsr Sie|
SeuoigHESTHID 2 flin LRSS G eopulled WP LSICLETSET  AIPRISLILIL

Geu6tor (HILD.

. u@H -1 @e gflwmer efloL&@EGHR wom BSNGTw  Fflwurer afaL
@rsior (O eTSHUHLT6oT I HIGL WwHIGLsTT ks GCastorHI.GMUT(H mmiD
allemL gy Slweimrle ésHmIn eatm Saumrs @madsr 9eneE 0 walibluesr

L HIGw aupris Geussor(HlLd.

. ugd - I, ugd - Il womid ugd —IV @lé o smsm aflamssEnseE ol ger
Qaugin sflwurs @minfsr pw weHlGUmTsT auphig UL Gausmm@hio. Siallsw
aUm| @(mHSMe Lighlemev SIIGILITITSET aLHISETLD.

. GSSITD sNurs swd GOINAILL Ligflmasafl seaum @mullsr (&58r55nE
oL (hILd LoI1GILIETET EULPRISEVITLD. (SSSITLD SaIMISHNS @\ ([HHE), LighlensugsT sfms
st aflem sflure @mundlsr, () wSIGLETT auphisILL Cousmm(HI. (FHSSHTD

SEOUNISENS FTLYSLILLL SNETE LSILIGILIETIT &mMSSLILIL &8 LTS

l1|Page


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

uGSH-1 (14 x1=14)

Imar5gl oflamssEnsELh aflenweafl&sa)n
oo | o euSH oflemL_aeir W IQUTITE6T
oreir | ©

: @ | (492549121} :

2 (@ |m" 1

3 @) 0<r<b 1

4 @ |0 1

5 (@ |° 1

6 @) Hsory 9jevof] 1

7 (@) G@am(b yeirerf] 1

8 () 7x-3y=0 1

9 @ | 1

10 (&) 60 ° 1

1 ) 136 7 &.0g.f 1

4
12 (@ |37 1
13 @) P(A)>1 1
4
14 (r) c 1
ugS I

sTemaUGIIEILD LSS efleaTTSeEnmsE WO elsmLwefl&sa]L.

efleurr 6T6w01.28—5( SLLmuTs ellenL wefl&&a]|L. 10%x2=20
afleurm aflemL_s6i Lo 1GLI6toT S6iT
6T6w0T

15 |A={123}, B=1{2357} 1

A X B = {(1'2)1 (113)1 (1;5); (117); (2;2); (2;3); 1 2
(2’5)’ (217)’ (312)’ (3’3)1 (315)’ (317)}

2|Page



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

16 |fog=2(x?-2)+1 (oevevg) 2x% -3 1

gof=(2x+1)%- 2 (gevevg) 4x? +4x-1 1
17 |a=bq+r (geveug) 532 =21(25)+7 1

Wpeow Gumid aiflsnsseT = 25

1

g erer LhOST Ip&6T = 7

@nlly:— Lommm) (pemmemLLILI LWeTLI(hSE) girey

STEOOTLILI lg (HHSTEID (LD LSIIGILsTET auprhisLL. GauetT(Hi.
18 ﬁ-y_3( : )x3‘y3

xX-y x-y SIS x—y 1

= >(2+><y+y2 1
19 _ (5 3 1

AB= (7 7)

_(4 2

BA = (5 10) } 1

AB#=BA
20

AB _ BD 1

AC  DC

9 .

AC = > G&..f (gjeveug) 4.5 Ga.Lf 1

21 1
. — Y2~

gmue|, M= _xz—x1

a= % (o606051) 8.5 1
22 ml == %, mz == _2 1

my X m, = —1 (gevevg) @\ CrisCar(asm Qamhi@dsememe. 1
23 STSIT L&D : 1 50V3 1

tan @ g@@gjﬁirm L&D (Q{GUSUQ_I) - =

x = 150 f 1

24 | Gamersdett sem QyETR| = gm‘?’ 1
4 4
ViV, = §n(4)3 :§T[(7)3 = 64 :343 1

3|Page



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

25 | swdifletr @lemLsemorLSlear eusmeruliy = [R + 1]l 1
550 1 2
25 1 (9jev6v81) — (9leveug)) 78.57 &.Gl&.8
26 |af5em =L-S 1
2
oigs =28 -18 =10 1
27 | n(S) =200 1
A _ 80 ey 2 2
PA) =15 = 200 (10081 ¢ 1
1
(oevevgl)  sriul(erer  Qemir  euflemswmsrgl e
& (HSESTLIT uflens
2
Qurg aflsHursn d = V2 1
GMly : HSHTD wiGn sflurs @mofsar @ wSHLIGL6T
ELILPMBISEVITLD
ugs -
7Gx 10 aflaTésEm&@ allmLwsflésea)n
efleoriT eTeor: 42 SLLmw afleorm 10x5=50
afleurm aflemL_s6iT L& IGILIsTOT S6iT
6T6UOT
29 |A=1{1,234567}B=1{2357}C={2} 1
AnB ={2,3,5,7} 1
(AnB) x C ={(2,2)(3,2)(5,2)(7,2)} 1
5

A xC ={(12)(22)(3,2)(42)(52)(6,2)(7,2)}
B x C=1{(22)(32)(52)(7.2)} }

(AXC) n (BxC)={(2,2)(3,2)(5,2)(7,2)}

4|Page



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

30 |f(2)=0,f4)=1,16)=2,f10)=4,f(12)=5
(i) suflemas Gamgseflstr sevorid
f={(2,0)(4,1)(6,2)(10,4)(12,5)}

(ii) 9| L 6uemewor
x 2 4 6 10 12
f(x) 0 1 2 4 5
(iiii) 9y&SEM LLLD
A B
f
2 0
1
6 >2
10 - 4
12 5
9
(iv) susmiruLLD
Y
5 .{12,5)
4 .(10,4}
3
2 1) (62)
! 20
0 T 4 6 8 10 12 X

31 113400 = 23 x3*x52x7?!
P1=2,p2=3,p3=5,ps=7
X1 =3,X2=4,X3=2,X4=1

32 S n? = n(n+1)6(2n+1)

6% + 7%+ 8% + .-+ 217

= (12422 +32+ 421 — (12 + 22+ 3%+ -+ 5%)
21 x22x43 5x6x11

N 6 G

= 3311 -55

= 3256



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

33

AB = (g _94)

(AB)T = (g > )

=(5 D))

1 2
AT=(2 -1
1 1

TAT=(0 5 1
B'A (g °)

34 | spml 2
LILLD 1
GarhssiulLene, flemulss, gjemLoLiL, HlemLeoTL 2
@nliy:— uL1d @evemevGliiesfled & MmIs @) L (HID L& IGILIsvor

QULPRISEVITLD.
35 T . 1fXs . HXa A Xy te N\ Xy
GIDET HEkT LTLL = 5{3’1 ><:}’2 Y2 bt Yy A }’1} 1
li—4 -3 3 2 -4
- = 2
2{—2 k -2 3 —2} 28
—7k = 35 1
k=-5 1
@nlly:— Lommm) (pemmemLLILI LWeTLI(hSE) girey
STEIOTLILIL Lo (HHSTEID (LD LSIIGILsTET auprisiuL. Gauetr(Hi.
36 |la+b=7=b=7—-a 1

Xy
—+>==1

a b

X

— Y =1
a 7—a

CrrGasmLmerg) (—3,8) steorm Leterfl aufl& Glsevaugmen
a’+4a—-21=0
a = —7 (9evegl) a = 3
b=4

W IR
+
<

=1 (opvevg)) 4x+3y—12=0

6|Page



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

37
_ (sinA+cos A)(sin? A—sin A cos A+cos? A) N
- (sin A+cos A) 2
(sin A—cos A)(sin? A+sin Acos A+co 2 A)
(sinA—cos A)
=1-sinAcosA+1+sinAcosA 2
=2 1
Gmioy :
aflemLaem  grgifleorn)l  fereuply (HSSHITRISET L (HILD
st N6t @\retor() LS IGILIETITS6T ALDMHISEVTLD.
a® + b3 = (a + b)(a? — ab + b?)
a® — b3 = (a—b)(a®+ ab + b?)
38 | rdiflufleir ser gjemey
1
=nr?H + 2 X §7‘[T2h 2
22 3\ 122 (3
:7x(§) ><8+2><§><7><(§) X 2 2
=211 Q&6 (oibeg) 66 Qe 1
Sy
1. 2 memarullesT 2 wirth Lol (HILD SmevoTLILIL Lo (HLILSl6aT 62( LoIIGILIsToT
6LILDMRISEUITLD.
2. LmHm) (Pemmemlll LETUHSES Siia| SmeuuTUILIL g (HhSTEYILD
W wHLIGLsTET RUPBISILL. GalemT(HILD.
39 Camarg e seur o6mey = gm‘3 1
fml 2 Comsiupgiseiar Ot GamengHlenm semojere 1
6T680T 600 | &H6M & ~ A Cameng et e 9ieme)
2 IX16x16X16
_3l 2
S mx2x2X2
1
=512
40 . 1
" o
C.V==x100% 1
gswr 1 ¥x=92, CV=5% 1
afigur: =96 CV=25 % 1
aflgwrellsrr Gawsidmer LIGHS Hemessemento & TsorL . 1

7|Page



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

41 | n(S)=26 1
. _ 6, . 3
i) P(A) = - (S1s00081) - 1
.. _ 13 . 1 1
i) P(B) = —_ (Sis00081) 7 5
_ . 1
iil) P(C) = 22 (opbovs))
v) P(D) = 5 (aibma) - 1
42 | (x?-2x+1D)+(x*—4x+4)+(x*—-6x+9)=0
3x —12x + 14 =0 } 2
A= b? — 4ac 1
A= (—12)? — 4(3)(14) = 144 — 168 5
A= —24 <0 ’
OaTHSsUILLL &eTUTL leM@ 6oL pLPEKISET @susmev. 1
UGS IV
I|manSgl afeT&SEhSHELD afenL eS8 2x8=16
efleormr aflemL_g6ir LHIGLsTIT 6T
6T6UOT
43 9| | 2 siUIULLD aIEmITS60 1
CaTL(h&aI6u0T(h 6L6MITSH60 1 8
QUL LD 66MITEH60 3
Camevor @)(mFLLGRI g ufleneT a16mTE60 1
AABC auenys60 2
(Sjvag)
43 9| | 2 5AMILLLD AIDMTE6 1
(PS6V QUL LD DI SH60 2
soLILSHOmEG 11 Q&8 gjeraisTer G (H&gI6T(H e6mITS60 2
@\T6UOTLITLD 6L LD 66DITEH60 2 8
@@ QarHCasTHISST aImTEH6N 1

8|Page



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

X 955, Y g&a
SeTOYSSILL LD

y=x*—-9x+20 (Gonisg 6D 5 ysteflas)

X -1 0 1 2 3 4 5

6

3
y | 30 | 20 | 12 6 2 0 0 )
LieTefNl&emens; @M LITlenamLLd 16miy&eD. 2
eLPEUMLIGET GILoLLI LOMMILD SLOLOMMEDELL. 1
(Sis0808)

44 o) Xoga, Y 958 1
TGS L LD ;

1wessn | 2wewll | 3ipemef) | Aoswell | 5pemsf) | 6Loswsfl

Gerd | (g) | (o) | (o) | (@) | (o)) | (D)

X 60 | 120 | 180 | 240 | 300 | 360

B | BALD | fifp | BBLD | g | Bl

g‘”“mY(ag]'Lﬁ) 50 | 100 | 150 | 200 | 250 | 300
(Sjevevgy) 2

g,m;mx(@.@ 50 | 100 | 150 | 200 | 250 | 300

1woewf) | 2wewsll | 3igemf) | Awewll | 5peyf) | GLoeuof]

Gerd | (g) | () | (o) | (@) | (o)) | (D)

Y 60 | 120 | 180 | 240 | 300 | 360

B | BALD | Qifp | BBLD | g | Bl

yereflaemens @Ml&g CrTsGCasm(H alemras.

M 50 (fmg) - (owE) - (opesg)
Gy 75 &b

(iii) 6 wewfl (gevevg) 360 KA migeT

9|Page



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

